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X — T — dx + 28 X+ 10x° + 24x + 64
X467 —x+42 Y+ 12 + 1lx— 168
48x> + 274x% — 817x + 504 9% + 109x” + 272x + 180
3 2 3 2
x +7x"+15x+9 49x” + 84x~ — 384x + 256
X =27 +4x—3 X — 6x> — 8x — 64
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X —Tx> — dx + 28 X+ 1042 + 24x + 64
(x+2)x—7)x—2) (x + 8)(x% + 2x + 8)
X+ 62 —x+ 42 X + 12x7 + 11x— 168
(x+ 7)o —x + 6) (x+ 7)(x+ 8)(x — 3)
48x> + 274x% — 817x + 504 9% + 109x” + 272x + 180
(8x — 9)(x + 8)(6x — 7) (x+ 2)(x + 9)(9x + 10)
3 2 3 2
x +7x"+15x+9 49x” + 84x~ — 384x + 256
(x+ 3)x + 3+ 1) (7x — 8)(x + 4)(7x — 8)
¥ =2 +4x—3 ¥ — 6xX° — 8x — 64
(x— D% —x+3) (x— 8)(x* + 2x + 8)
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